a.u./ 0.21

a.u./ 0.21

——
ATLAS Internal
H.zz"_ 4e

L B B
ATLAS Internal
H-zz"~ 2u2e

0.06

a.u./ 0.21
o
o
\‘

0.05

0.04

—— ]
——

——

—
IIII|IIII|IIII|I

0.03

0.02F e
0.01F =
:I 1 1 P 1 1 I:
0 -2 -1 0 1 2 3
® ®
0.06FF 1 UL L LR &'0.0S:r T 1 UL UL LN
E ATLAS Internal ] S E . ATLAS Internal ]
» ® E [ = 2, fqq = 100% MELA pdf * E
0.05 H-ZZ - 2e2u S 0.05 H-ZZ - 4u —
r ] S r ]
0.04F + + +—: 0.04F ‘*Wl =
0.034 + + 0.03 =
0.02F = 0.02f i
0.01F 3 0.01F -
0:| 1 1 1 1 1 L I: O:| 1 1 1 1 1 L I:
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3



	Contents
	Page 1


